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Plot [['EcFgro', 'EcFzExp', 'EcPItng’, 'ECdef’, 'EcParam’, 'water_ec']]
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Plot ['ECopt']
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plot dfFv
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plot dfFv (daily AgqQ)
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Plot minDeltaM, minDeltaMs, minDeltaMt
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Daily %DeltaM and %DeltaM/1000ml ETcldef for M_W (-2.0%/D, -1.7%/1000ml ET)
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ETcldef vs pctDeltaM and pdMPerEtL for M_W

-0.01 A

-0.02 A

-0.03 A

-0.04 A

pc_tDeIta M W

200

0.02 - .. pdl\'/IPerEtL_'M_W ® o0 | o, ° “ o
-0.04 * @ o ¢ °o® °
-0.06 .. b ad
ol o ¢ -0.08 * L o
% ° 010] o &
°° 0.12 1 L A
-0.14 - ®
1200 1400 1600 200 400 600 800 1200 1400 1600

ETcldef



1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

0.4

0.2

0.0

1.0

0.8

0.6

1.0

0.8

0.6

0.4

0.2

0.0

M_W d14 ([6.0, 2.1, 65.0] fdu=200.0

[0.85, 30.0, 60.0, 30.79, 0.89]

0 50 100 150 200
M_W d37 ([9.0, 8.4, 8.0] fdu=93.0

—— [0.98, 30.0, 29.45, 9.96, 0.99

e —————

0 20
M_W d46 ([11.0, 9.4, 4.0] fdu=115.0

40 60 80

[0.95, 30.0, 60.

o
[ > Y S S —

[o)]
o
o
b o o e e (O ——————
~

0 25 50 75 100 125
M_W d57 ([5.0, 5.6, 37.0] fdu=101.0

—— [0.96, 20.33, 9.15, 24.78, 0.98] |

0 20
M_W d71 ([7.0, 6.8, 16.0] fdu=95.0

40 60 80 100

] ]
1 -
1
1 1
! 1
1 f 1
1 1
| 1
— [0.99, 30.0, 17.59, 16.89, 0.99]
!
1
1 1
1 1
1 1
il | i
1 1
T T T I I

40 60 80 100

M_W d32 ([7.0, 5.3, 20.0] fdu=110.0

1.0

0.8

0.6

0.4

[0.94, 14.09, 60.0, 9.3, 0.96]

0.2

0.0

0 20

40
M_W d37 ([9.0, 8.4, 8.0] fdu=93.0

60 80 100

1.0

0.8

0.6

e —————

—— [0.98, 30.0, 29.45, 9.96, 0.99

0 20 40 60 80
M_W d50 ([11.0, 12.5, 2.0] fdu=33.0

—— [0.94, 10.0, 6.0, 9.29, 0.86]

0 20 40 60 80 100
M_W d60 ([8.0, 5.2, 15.0] fdu=105.0
0T T T sl
1 11
A
0.8 1 0
| [ |
1 [
0.6 ] ] ]

—— [0.94, 30.0, 28.38, 16.69,

0.4

0.2

S N D S A,
©
=t

0.0' T
0 25 50 75 100 125
M_W d75 ([9.0, 5.7, 12.0] fdu=98.0
1.0 1
1 11
Pt
0.8 , ,
1 1
1 1
0.6 | | 1
—— [0.98, 30.0, 22.46, 17.96, 0.99]
0.4 o !
1 1
1 1
0.2 ! I
1 1
1 1
0.0 - 1 L
0 50 100 150

M_W d32 ([7.0, 5.3, 20.0] fdu=110.0

1.0 —
| I I
' | |
0.8 | I I
1 | 1
i 1 1
0.6 o4 1
—— [0.94, 14.09, 60.0, 9.3, 0.96] ,
0.4 !
I
:
0.2 i
:
0.0 L-—— L !
0O 20 40 60 80 100
M_W d42 ([10.0, 4.2, 11.0] fdu=106.0
1.0 I R -
1 I
L
0.8 I I
1
1
0.6 |
— [0.96, 30.0, 28.26, 22.2, 0.99]
0.4 : i
I I
1 |
0.2 !
1
1 I
0.0 - ' :
0O 20 40 60 80 100
M_W d53 ([5.0, 7.4, 22.0] fdu=98.0
i i
L °
0.8 11 I
11 1
11 1
0.6 - 1
—— [0.95, 30.0, 16.09, 15.44, 0.98]
0.4 !
I
:
0.2 i
1
1
0.0 l l !
0O 20 40 60 80 100
M_W d64 ([8.0, 5.4, 15.0] fdu=108.0
1.0 i i '
I 1
L
0.8 I I
| 1
1 1
0.6 | |

15.69, 0.99]

50

75 100

M_W d32 ([7.0, 5.3, 20.0] fdu=110.0

1.0
] 1
' |
0.8 . ,
/] 1
/] 1
0.6 A 1
—— [0.94, 14.09, 60.0, 9.3, 0.96] |
1 1
0.4 1 1
1 1
| |
0.2 [ -
| |
0.0 ° | I I
0 20 40 60 80 100
M W d46 ([11.0, 9.4, 4.0] fdu=115.0
1.0 1 ]
1 1
- |
0.8 , , ,
1 1 1
1 1 1
0.6 1 1 1
—— [0.95, 30.0, 60.0, 6.0, 0.97]
0.4 : ! !
1 1 1
- |
0.2
e/
0.0 - !
0 25 50 75 100 125
M_W d56 ([8.0, 5.1, 16.0] fdu=110.0
1.0 i T i
1 1 1 1
N |
0.8 1 1 1 1
1 1 1 1
1 1 1 1
0.6 1 1 I 1
—— [0.95, 30.0, 33.4, 15.73, 0.97]
0.4 ! ! !
1 1 1
1 1 1
0.2 ! : :
1 1
1
0.0 l l 1
0 25 50 75 100
M W d68 ([5.0, 8.1, 27.0] fdu=83.0
TT1
1.0 H
111
i °°
0.8 111 1
11 1
11 1
0.6 1 — [0.95,20.4, 6.0, 19.41, 0.99] |
1
1
0.4 |
1
1
0.2 i
1
1
0.0 -
50 100 150




Fdu, duBegFit, and duBeg moving average
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FduBeg (Estimated from BetaSs fit)
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Fdu (Estimated from BetaS fit
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fvPerM Estimated for each M sensor by fit BetaS
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fvPerM moving average
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ETcM and ETcMma
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Plot [['I", 'lopt'], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl', 'optETcl'], 'LAI', 'optEtRate']
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa
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Fertilizer Range Source: kerleyL, kerleyH, UnivFL, TNAI, Haifa

2500 -
—e— kg hN.S | 1500 1 —e— kg hN_S —e— kg hP205 S co00 | —® ko_hk20_s
! ]
kg_hP205.S | 1950 %= kg_hNov_s 5000 1. =%- kg_hP2050v_S —%- kg_hK20ov S
—e— kg hk20.S | 5000 -
1
| 1000 - 1500 - 4000 -
1
750 - ]
: 1000 1 oox | 0%
1
i 500 1 2000
500 -
/._H 250 1 1000 -
! 0 0 0 :
25 50 75 100 125 150 0O 25 50 75 100 125 150 0O 25 50 75 100 125 150 0O 25 50 75 100 125 150



